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Ten for the first tithe, etc. - 991D PWNRT WY WY

Overview

The &n»12 teaches that he first separates two 1212 for 270 (from the hundred
7a19),! and then ten P29 (from the hundred) for WX wyn and nine 1P (from the
remaining ninety) for 1w wyn. Our 190N discusses the math used here.
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Ten (for 7"vn) and nine (for w'"yn) are not precise numbers, for when he
removed two 13 for 72173 219N, there remained only one hundred less two (or
ninety eight) -
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And some explain that the amount of "wyn, which needs to be separated is not
diminished because of the (two P2 of) 7217 711N, since N7 even one kernel
of wheat set aside for 72170, exempts the entire pile.

Summary
Either the 71wn is not precise with nine and ten, or since 7N may be minimal, it

does not diminish the amount obligated to be tithed.

Thinking it over
When one is 170 w197 one from fifty, it is 0"7n 72170, so why do the owaon w°

maintains that it does not diminish the nwyn 2vn,* why is it any different from
2"vn, which diminishes the w"vn 213

Uman is given (on average) one from fifty; therefore two 127 for im0, indicates that there is one hundred 12°.

2 Therefore he would seemingly give 9.8 1% (from 98) for 1"vn and 8.82 P2 for w"vn (98-9.8=88.2 /10=8.82).
However the discrepancy is so small that he rounds it to the nearest whole number.

> We consider it therefore as if there are still one hundred 737 (less a drop) which is 7wyna a»nn. The additional
7m0 that he is giving (132717%) cannot exempt him from giving the 7wvyn on the entire hundred 1217 (see ‘Thinking it
over’). Therefore the numbers 10 & 9 are correct, for that is how much "y 7"¥n needs to separated respectively..

* See footnote # 3.

> See nwn ol
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